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2008-09 District Competition

Match #4 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
The publishers Modern Library rated this novel the best English novel of the 20th century. It consists of 18 ‘episodes’ including Calypso, Telemachus, and Penelope. Leopold Bloom lives an ordinary day in Dublin on June 16, 1904, in what novel by James Joyce? 

ANSWER: Ulysses
2.
‘Sexy’ is a pair of these that differ by six. Other classes include Pythagorean, twin, and Mersenne. The sieve of Eratosthenes (ay-rah-TAWS-theh-neez) is used to find what class of numbers which have only two factors?


ANSWER: prime number(s)

3.
His son Cambyses II conquered Egypt. After he conquered the Medians, Babylonians, and Lydians, he allowed the Jews to return to Israel. Reigning between 559 and 529 BC, who was this founder of the Persian Empire? 

ANSWER: Cyrus I or Cyrus the Great (accept Kuroush in place of Cyrus)

4.
In December 2007, over 240 varieties of this toy were ‘retired’ and replaced by version 2.0. Humphrey the camel and Peking the panda are among the rarest. In 1993, Ty Warner started selling nine varieties of what small stuffed animals filled with soft plastic beads? 


ANSWER: Beanie Baby(ies)

5.
His conjecture was about the best way to stack spherical objects. In his Harmony of the Worlds and A New Astronomy, he proposed that the planets traveled in elliptical orbits. The prior statement was the first of what man’s three laws of planetary motion? 

ANSWER: Johannes Kepler
6.
He painted The Problem We All Live With, a portrayal of the hatred towards a Black girl going to a newly integrated school, for Look magazine. He painted the Four Freedoms series and Saying Grace. Who painted 321 covers for the Saturday Evening Post? 

ANSWER: Norman Rockwell
7.
He created the Antrobus family and the Peruvian priest Father Juniper for his works The Skin of Our Teeth and The Bridge of San Luis Rey. Who created the town of Grover’s Corners, New Hampshire, and a protagonist Stage Manager in his play Our Town? 

ANSWER: Thornton Wilder
8.
Its last members were Anna Maria Luisa and Gian (john) Gastone (gah-STOH-nay). Members of this family were Grand Dukes of Tuscany until 1737.  Cosimo and Lorenzo the Magnificent were other members of what banking family that ruled Florence, Italy? 

ANSWER: Medici family

9.
Some traditions hold that it was given on Eremos, a hill near the city of Capernaum. It contains the metaphor of salt and light as well as the Lord’s Prayer. The Beatitudes begin what speech given by Jesus of Nazareth in chapters 5 through 7 of Matthew? 


ANSWER: The Sermon on the Mount
10.
Its three parts are: Organisms inherit one allele from each parent, alternate versions of genes explain variations in characteristics, and an organism’s two alleles separate when producing gametes. What is this genetic law, also known as Mendel’s first law?

ANSWER: law of segregation (accept Mendel’s first law until said in question)

11.
This city has the largest percentage of Irish-Americans of any large city in the United States. In the 1970s, its South End was racked by protests over desegregation busing. What city was the site of a Tea Party and a Massacre, and is the capital of Massachusetts?

ANSWER: Boston 

12.
One of this tissue’s three types does not contain sarcomeres, but all three types contain myofibrils. Cardiac, smooth, and skeletal are the three types of what contractile tissue that enables the human body to move? 

ANSWER: muscle(s)
13.
He rejects Iris Lemon because she is an under-40 grandmother, and is rejected by Memo Paris. He agrees to throw the New York Knights’ last game for $25,000, striking out in his last at-bat. Who is this baseball player in Bernard Malamud’s The Natural? 

ANSWER: Roy Hobbs (accept either)

14.
In its ‘A’ variety, factor eight is absent, and in its ‘B’ variety, factor nine is absent. A 19th century treatment for it was aspirin, which actually worsened it. Queen Victoria was a famous carrier of what generic disease that involves an inability to clot blood? 

ANSWER: hemophilia
15.
It traces its roots to the toca technique used by Spanish Inquisition interrogators, and is often favored by brutal questioners as it leaves no physical evidence on the victim. What technique consists of suspending a suspect upside down and dousing the face with water? 

ANSWER: waterboard(ing)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What is the capital of the Sudan?


ANSWER: Khartoum
1B.
What state did not send delegates to the Constitutional Convention and was the last state to ratify the Constitution? 


ANSWER: Rhode Island
2A.
Ernest Hemingway wrote several short stories such as ‘Now I Lay Me’ about what young man in the 1920s and 1930s?

ANSWER: Nick Adams
2B.
The platypus and echidna are members of what mammal order that lays eggs?


ANSWER: monotreme(s) or Monotremata
3A.
Who was the coach of men’s basketball at North Carolina-Chapel Hill between 1961 and 1997, and the namesake of the Tar Heels’ basketball arena? 


ANSWER: Dean Smith
3B.
Consider the sentence, ‘I run down the hall.’ What is that sentence in the past progressive tense? 


ANSWER: I was running down the hall
4A.
What body of water to the east of the Caspian Sea has shrunk by nearly two-thirds as a result of Soviet-era agricultural policies? 


ANSWER: Aral Sea

4B.
What 1990s television show led to a number of real students asking about attending the fictional California University? 


ANSWER: Beverly Hills, 90210
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  In triangle ABC side AC equals 3, side BC equals 2, and angle C has a cosine of .25.  Using the Law of Cosines, find side AB.


ANSWER:  the square root of 10 (accept equivalent phrasing such as ‘radical 10’)

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Find the interest, over 8 months, on a loan of $870 at 5.5% simple interest.


ANSWER:  $31.90
6A.
To the nearest degree in Kelvin, what is absolute zero?


ANSWER: zero
6B.
The Israelites insisted on having a king despite the misgivings of what prophet that anointed both Saul and David?


ANSWER: Samuel
7A.
What philosopher proposed the idea of ‘government with the consent of the governed’ in his Two Treatises of Government? 

ANSWER: John Locke
7B.
What term describes a compound that produces more hydroxide ions than hydrogen ions in aqueous solution?

ANSWER: (Arrhenius) base or basic
8A.
What crime is committed when a corporate director or major investor buys or sells shares based on news that has not yet been released to the public?


ANSWER: insider trade (or trading)

8B.
Who was the West German chancellor at the time of unification? 

ANSWER: Helmut Kohl
9A.
From English to Spanish, translate the phrase ‘blue eyes.’ 

ANSWER: ojos azules (OH-hohs ah-SOO-lays)

9B.
What novel’s titular character commits suicide after being rejected by Count Vronsky?

ANSWER: Anna Karenina
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Find the geometric mean, in simple radical form, of the fractions 3/5 and 4/9.


ANSWER: 2 square roots of 15 over 15 (accept equivalent phrasing such as ‘2 times the square root of 15’) 

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Consider the numbers, A = 45 times 104, B = .007 times 108, and C = 500 times 103. Find the sum of A, B, and C giving your answer in scientific notation.


ANSWER:  1.65 x 106 (one point sixty-five times ten to the sixth)

Third period, 15 toss-ups, 10 points each

1.
This astronomical form of syzygy (sih-zuh-GEE) is impossible on Mercury and Venus. They are very common on Pluto due to the large size of its moon Charon. What occurs when one body passes into the shadow of another body?

ANSWER: eclipse (accept lunar eclipse)
2.
The Treaty of Schonbrunn was signed six days after he became Foreign Minister. He later negotiated Napoleon’s marriage to Maria Luisa. He was forced to resign in 1848, ending his namesake Age. Who was this Austrian Foreign Minister? 

ANSWER: Prince Klemens von Metternich
3.
French economist Alfred Sauvy coined this term in 1952. It originally referred to non-aligned countries in the Cold War, but today only has an economic meaning. What term today describes poor and underdeveloped countries? 

ANSWER: Third World
4.
The shinju, or ‘double love suicide’ plays of this genre, were banned in 1723. In the early 19th century, the puppet theatre of bunraku was more popular. What form of Japanese theatre has actors wearing elaborate makeup and is 400 years younger than Noh theatre? 

ANSWER: Kabuki
5.
Songs in this musical include ‘Till There Was You,’ ‘The Wells Fargo Wagon,’ and ‘Marian the Librarian.’ Said librarian falls in love with traveling salesman Harold Hill in what musical that contains ‘Seventy-Six Trombones?’


ANSWER: The Music Man
6.
This operating system’s first version, 2.0, was created in 1991 and based on the System V Release 4 flavor of UNIX. What is this operating system installed on computers like the E10000 by Sun Microsystems? 

ANSWER: Solaris
7.
Christos Kakalos was the first man in recorded history to climb it, doing so in 1913. Many mountains across the Earth, and a prominent one on Mars, are named for it. Name this mountain near Thessaloniki which was the home of the Greek gods. 


ANSWER: Mount Olympus
8.
This group was led by former sergeant Walter Waters, and stopped by Douglas MacArthur. Name this group of veterans who marched on Washington in 1932 seeking early payment of money owed under a 1924 law. 

ANSWER: Bonus Army or Bonus Expeditionary Force
9.
THIS IS A 10-SECOND COMPUTATION QUESTION.   The point (-5, 14) (negative five comma fourteen) is the midpoint between points A and B.  Find point B if point A is (12, -2) (twelve comma negative two)


ANSWER:  (-22, 30) (negative twenty-two comma thirty)

10.
This word entered English around 1650 from a Dutch word that means ‘to sail to and fro.’ It now applies to any car journey taken for pleasure, or to set a car to travel at a constant pace. What word describes a sea voyage taken on a luxury liner? 


ANSWER: cruise
11.
Leo Szilard failed when he used beryllium and indium to start this type of fission process. Fermi succeeded by using uranium in his reactor at the University of Chicago. What reaction occurs when neutrons from one nucleus hit other nuclei, causing more fission? 

ANSWER: (nuclear) chain reaction(s)
12.
His label, US Records, has not released anything since 2005. His February 2008 single featuring Young Jeezy went from #51 to #1 in one week on the Billboard Hot 100. In 2008, who released the album Here I Stand and the single Love in This Club? 

ANSWER: Usher
13.
He was Tennessee’s first Congressman. After leaving the House, he bought a plantation called the Hermitage. He led the fight against the Red Stick Creeks and commanded at the Battle of New Orleans. Who was President between 1829 and 1837?

ANSWER: Andrew Jackson
14.
His seven ‘original adventures’ were written by Margret Rey and illustrated by H.A. Rey. He lived in a Jungle in Africa until his capture by a nameless man in a yellow hat. Named Zozo in the UK to avoid insult to Britain’s 1940s king was what inquisitive monkey? 

ANSWER: Curious George
15.
This six-letter word comes to us from Latin words meaning ‘again’ and ‘to heal.’ In law, it refers to legal redress. What word refers to restoring something that is wrong, or to a cure for what ails you? 

ANSWER: remedy
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He was made First Deputy Prime Minister in 2005, and has been chairman of Gazprom since 2000. Who defeated Gennady Zyuganov and Vladimir Zhirinovsky in March 2008’s elections to become the third President of the Russian Federation? 

ANSWER: Dmitri Medvedev (DO NOT accept ‘Dmitri Mendeleev’)

2.
In the 1860s, the Springfield Republican published about a dozen of her poems, some of the only poems published before her 1886 death. Aside from an 1855 trip to Washington and a year at Mount Holyoke, what poet rarely left Amherst, Massachusetts? 

ANSWER: Emily Dickinson 
3.
The Merrimack River flows through this state’s southern half. Its Cannon Mountain once contained the Old Man of the Mountain. It has the shortest coastline of any American state. What state’s cities include Nashua, Manchester, and the capital, Concord? 

ANSWER: New Hampshire
4.
THIS IS A 10-SECOND COMPUTATION QUESTION.   Change the number 3/11 to a decimal.

ANSWER:  .27 repeating or  .2727272727...

5.
Johnstone Stoney predicted its existence in 1874 and J.J. Thomson discovered it in 1897. Its charge was measured in Milliken’s oil-drop experiment. Having a spin of ½ or -½ and a mass 1/1836th that of a proton is what negatively charged sub-atomic particle? 

ANSWER: electron
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